
Li-pol
3s 1600
3s 2200

2814
100-120g

11/4.7 
12/4.7

* EPP parts
* Landing Gear (LG)
* Accessory Bag
* Carbon Pushrods

Arms etc.:
1. LG mounting plate
2. LG supports
3. aileron control horns
4. aileron servo arms
5. elevator control horn
6. rudder cotrol horns
7. aileron + rudder servo arms
8. tailskid

You may also need:
* X-acto sharp knife
* philips + flat screwdriver 
* tweezers
* little pliers

* CA glue medium + thin, activator (kicker)
* 10cm servo extension lead
* sandpaper 120 - 180
* pencil

Kit contents: Carbon Parts List
* 5x1x1000 ... 2x
* 5x1x250 ... 1x
* 3x1x550 ... 2x
* 3x1x250 ... 1x
* 3x1x200 ... 1x
* 2.5x1.5x200 ... 4x
* 3x0.5x125 ... 2x
* 3x0.5x75 ... 2x 
* 1.8x55 ... 2x
* 1.8x140 ... 1x
* 1.8x165 ... 1x

More Parts:

* adjustable link 1.8 ... 4x
* ball link + screw ... 8x
* screw M3x15 ... 2x
* nut      M3 ... 2x
* closed nut  M3 ... 2x
* washer  3mm ... 2x
* self tapping screw 2.9x6 ... 2x
* self tapping screw  2.9x9 ... 4x
* motor mount ... 1x
* arms set ... 1x
* LG support ... 2x
* wheelpants holder ... 2x
* vertical tail support ply 3 ... 2x
* LG wheels ... 2x

1.2.

3.

4.

8.3.
4.

5.

6.
7. 7.



1. 2.

3.

5.

7.

9.

4.

6.

8.

10.10.

Carbon 5x1x250
Carbon 3x1x250

Carbon 3x1x100...2x

Carbon 3x1x250

Carbon 5x1x250

Medium CA

Medium CA

Carbon 3x1x100...2x

Top side

Bottom side

Medium CA

A
ctivator

Activator+



11.

13.

15.

17.

19.

12.

14.

16.

18.

20.

Carbon 5x1x1000
Medium CA

Carbon 5x1x1000
Bottom sideMedium CA

Activator

Carbon 3x1x550...2x

Medium CA



21.

23.

25.

27.

29.

22.

24.

26.

28.

30.

Thin CA

Medium CA



31.

33.

35.

37.

39.

32.

34.

36.

38.

40.

Carbon 2.5x1.5x200... 2x Top, 2x Bottom
   (Carbon 3x1x200)
                  

Medium CA

Medium CA



Thin CA

78mm

71mm (cut) 

Ailerons
Carbon o 1.8x55

41.

45.

47.

49.

42.

46.

48.

50.

44.43.



78mm

Thin CA

90°

Thin CA

Thin CA

L+R

Ailerons51.

53.

55.

57.

59.

52.

54.

56.

58.

60.



61.

63.

65.

67.

69.

62.

64.

66.

68.

70.

Thin CA



71.

73.

75.

77.

79.

72.

74.

76.

78.

80.

Elevator

150mm 

143mm (cut) 

150mm 

Elevator

Thin CA

Medium CA Activator+

Carbon o 1.8x140



81.

83.

85.

87.

89.

82.

84.

86.

88.

90.

Medium CA Activator+

Medium CA Activator+

Thin CA

Medium CA Activator+



91.

93.

95.

97.

99.

92.

94.

96.

98.

100.

Thin CA

Medium CA Activator+

Rudder

Veloxity 162mm,  Edge 178mm (cut) 

Carbon o 1.8x165

Thin CA

 o3mm
 o3,2mm

 o3mm

Side „A” Side „B”

Veloxity 169mm,  Edge 185mm 

Veloxity 169mm,  Edge 185mm 



101.

103.

105.

107.

109.

102.

104.

106.

108.

110.

M3x15

Medium CA Activator+

2.9x6

L+R

Carbon 3x0.5x125 ... 2x
Carbon 3x0.5x75 ... 2x

Medium CA

Medium CA

Activator



111. 112.

L+R

2.9x9 ... 4x

RC 

bat.

esc

Veloxity 275 mm

Edge 235 mm

We wish you many happy flights.

Your RC Factory team.


	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6
	Stránka 7
	Stránka 8
	Stránka 9
	Stránka 10
	Stránka 11
	Stránka 12
	Stránka 13

